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Please make sure that the printed pages in this

question paper are 16 in number and it contains

34 questions.
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The Code No. on the top of the question paper

should be written by the candidate on the front
page of the answer-book.
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Before beginning to answer a question, its Serial
Number must be written.
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Don’t leave blank page/pages in your answer-book.
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ST & [d ST fr@r g 7 @

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o gl STy T To FIT-UH §T SigeT [y

Candidates must write their Roll Number on the
question paper.

o YF 49l # FUT &7 @ {4 I8 GrREd BT o [ FeT-7
g7 7 & & gher & S 30 a9 F &g A aar
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Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.
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General Instruction :
(i) T FeT SFET &
All questions are compulsory.
(i) HEF F97 B oIF 3GH THT @NT T 8
Marks of each question are indicated against
it.
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797 #H% 1 @ 14 7% JgAwdd 597 &1 J9%
797 1 7% & & [7% Te Fuv o7y Fav-ghamr
7 foreT 8

Question Nos. 1 to 14 are multiple chocie
type questions carrying 1 mark each.
Candidate have to write the correct answer
in their answer-book.

797 F% 15 @ 24 T ST TGATHE T 81
TR% 97 2 STH F &1 JAH F9T FH FAT TTHT
30 =] 4 &

Question Nos. 15 to 24 are very short

answer type questions carrying 2 marks
each. Answer these in about 30 words each.

797 % 25 @ 31 7% TLAOAE o7 81 9%
g7 3 SIFE FT & FROF F97 FT FIT TTYT 40
=51 7 &y

Question Nos. 25 to 31 are short answer

type questions carrying 3 marks each.
Answer these in about 40 words each.

g97 HHlF 32 @ 34 % & FIHE F97 8
&% 97 5 3JH F 81 F9% 97 F T TTIT
70 g1 F Gy

Question Nos. 32 to 34 are long answer type

questions of 5 marks each. Answer these in
about 70 words each.
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(i) F97-97 § @5y &7 @ Fg fawey 78 & @y 5
TPl I T g F AR FIT HETT [ T
g1 07 g9 § @ sy aa o & 797 & 8

There is no over all choice. However, internal

choice is given in all long answer type
questions of 5 marks each. You have to

attempt only one of the given choice in such

questions.
1. TH-3 el 8 ¥ - 1
(A) Na®,0~ (B) F,0%
(C) A, p3* (D) F,0%*

1029

Isoelectronic ions are :

(A) Na®,0~ (B) F,0%"
(C) A, p3* (D) F,0%
. IR TSl H G 8 1
(A) NaOH (B) Ca(OH),
(C) AI(OH), (D) Na,COs

Formula of Caustic Soda is :
(A) NaOH (B) Ca(OH),
(C) AlOH); (D) Na,COg4



3.
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22 I FHET SESTHIES § fhaw AT B ° 1
(A) 1.0 (B) 1.5
C) 2 (D) 0.5

Number of moles in 22 gram of carbondioxide

are :
(A) 1.0 B) 1.5
€ 2 (D) 0.5

. d-E F Tl H IS O © 1
(A) (n_l)dl—lonSQ (B) (n_l)dl—IOnSO—Q

(©) (n-1)d"%ns'? (D) TH & H3 Tl

Electronic configuration of d-block elements is :

(&) (n-1d""Ons? B) (n-1)d'Ons®2
(C) (n-1d"'°ns'? (D) None of these
CoBr & gt A g @ AN ? ]
(A) 80 (B) 35

(C) 45 D) 115

Number of Neutrons in 22 Br are:
(A) 80 (B) 35
(C) 45 (D) 115

P.T.O.
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6. MnO; ¥ Mn % TR STae Bl : 1
(A)  +7 (B) +6
(C) -2 (D) +2
Oxidation state of Mn in MnO7  is :
(A) +7 (B) +6
(€ -2 (D) +2
7. Frud faga ool g B 7 1
(A) SnCl, (B) SO,
(C) H,O (D) cCcCly
In which dipole moment is zero ?
(A) SnCl, (B) SO,
(C) H,O (D) ccCiy,
8. T 2 Cl(g) > Cly(g) ® [T AHT AS BRI : 1
(A) +ve, —ve (B) +ve, +ve
(C) —ve, —ve (D) -—ve, +ve

In equation 2 CI (g) — ClI, (g) the value of AH and

AS will be :
(A) +ve, —ve (B) +ve, +ve
(C) —ve, —ve (D) —ve, +ve
9. WY v B & § 7 1
(A)  Hy0, (B) Hy0
(€) DO (D)  Dy0,
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Which is hard water ?

(A)  Hy0, (B) HyO
(C) Dy,O (D) D0,
10. EEISH & AME S90S [O9d § ¢ 1
(A) 0.0V (B) -3.04V
(C) +2.85V (D) 1.0V

Standard electrode potential of hydrogen is

taken as :
(A) 0.0V (B) -3.04V
(C) +2.85V (D) 1.0V
11. @ 54 § BOD % AN a1 &ar 8 ? 1
(A) 5ppmﬁﬂﬂﬂT (B) 5ppma3b'q

(C) 17 ppm § 9w (D) = 9 Hi3 &l
Value of BOD in clean water will be :

(A) More than 5 ppm  (B) Less than 5 ppm

(C) More than 17 ppm (D) None of these

1029 P.T.O.



12. e I W
(A) AH = gy B) AH=0
(C) AH =AU — PAV (D) AH=gp
At constant pressure :

(A) AH = gy (B) AH=0
(C) AH=AU — PAV (D) AH=gp
13. @eY 3 IRE & @ ¢
(A) CaSo, B) CaSO, .%Hgo
(C) CaS0,.2H,0 (D) CaOCl,

Plaster of Paris is :
1

(A) CaSO, (B) CaSO, . 5 H;0
(C) CaS04.2H,0O (D) CaOCl,
14. =1 ¥ TR =2 8 ¢
(A) OH ,H,O (B) (JEH3,NC_
(C) >C=0, éHs (D) OH ,R;C*
In the following Nucleophiles are :
(A) OH ,H,O (B) (JEH3,NC_
(C) >C=0, E‘H3 (D) OH ,R;C"

1029
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16.

17.

18.

19.
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I39 T 9 {39 8RS 64 Fed © ! Tdh B GHIF
SR ffay 2

What are Lewis Acids and Lewis bases ? Give

one example for each.

STENTET & 199 & q9esy) 2

Discuss Avogadro's Law.

AREE g FRET § S5 & guEan R 2

Write two similarities between Lithium and

Magnesium.

WA B Rl RO W HH & [ Fh [
(Clark's method) &I ST SIS 2

Explain Clark's method to remove temporary

hardness of water.

0.01 M GifeTH eRgEaEs [AaaH & pH g i 2

Calculate pH of 0.01 M solution of sodium
hydroxide.

P.T.O.
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20. FHEHN B YA B : 2
() BgyHg+ NH; —
(i) BF;+LiH —
Complete the reactions :
() ByHg+ NH; —

(i) BF; +LiH —

21. @S & wewayl g g 2

Write important applications of Silicons.

22. T H,(g)+I(g) = 2HI(g) % ®T K, 9 K,
& A F BT 7 2

For equation H,(g)+I,(g) == 2HI(g) give the

value of K, and K, .

23. JAELHT B THAET 2

Explain Hyperconjugation.

24. Tha 99 (Huckel Rule) 1 & ? 993U 2
What is Huckel Rule ? Explain.

1029
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25. 9 # IR Hif ¢ 3

26.

27.

1029

(i) T s

(ii) e

(iti) HA

Define the following :

(i) Mole fraction

(ii) Molarity

(iii) Molality

Uh 9 g AEd § fagq wereemd BE TR aRafia
Rl ® ? e i) 3
How do electronegativity vary in a group and

period ? Explain.

27°C ¥l 730 mm (Hg) &€ W UH ¥9 300 ml
AT B B STP URRfE (A 9 @) W e
T AT 3

A gas has a volume of 300 ml at 27°C and
730 mm (Hg) pressure. What will be its volume
at standard conditions of temperature and

pressure ?

P.T.O.
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28. = &l TR &Y 3

29.

30.

1029

() AR T 9O (AH° fus.)

(i) 29 & A

(i) TSR

Define the terms :

()  Molar enthalpy of fusion (AH’ fus.)
(ii) Hess's Law

(iii) Entropy

Fe**(aq) + Cry02~(aq) — Fe>*(aq)+ Cr*(aq)

THIET @ oTE HEEH W oofw oIfRar iy &
Hferd it 3
Balance the given equation in acidic medium

using Half reaction method :

Fe?"(aq)+ CrQOg_(aq) — Fe3*(aq)+ Cr3*(aq)

frat Qe & AT & oThee i BieTd [l #t faa=mT
i 3

Discuss the Carius method for the estimation of

sulphur in organic compound.
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31. XY g & MY FT G950 & ¢ 39D UROmT FME ? 3

32.

1029

What is meant by Acidic Rain ? What are its

consequences ?

(2)
(b)

(2)

(2)

IR Hisd @ €9 F®& E ? e S 3
ds 2T dy FHEH P TN SHET 2

What are limitations of Bohr's model ?

Explain.

Draw shapes of dx2—y2 and dyy orbitals.
YT
OR

TISell STas RISia @ e i 3

I 1 @ qeRE 4800 A B Ee! SR (V) OR
TUTEET (V) & IReba Sl 2

Explain Pauli's Exclusion Principle.

Calculate the frequency (V) and wavenumber

(V') of blue light of wavelength 4800 A.

P.T.O.
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oMfvas Fersh faGid & SR WX SifadeN &l oTey Hife
q Yhig 0T Sl AT HIoT 5

Explain bond order and magnetic behaviour of
oxygen molecule on the basis of molecular

orbital theory.

STeE
OR

AT § Y T T & ? HBOl B IR W C,H,
9 NHj Tl &l E@3aN a9as 5

What is Hybridisation ? On the basis of
hybridization explain shapes of C;H, and NHj;

molecules.

Rreiferfa @1 frege avi @ - 5
(a) qrehiHh + o

(b) SHISE e URFeAIeTT

Explain the following in detalil :

(@) Markovnikov rule

(b) Friedal Craft acylation
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’31'9\' HpSO4

(iiiy CH;CH,OH

(iv) CHsCH =CH,—19
(ii) Zn, HoO

) CHsCH,Br S8
KOH

Complete the following reactions :

(ii) @ Conc. HpSO4
A

1029
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(16)

(i) CH;CH,0H —Cone-H2504

A

(iv) CHsCH =CH,—19%
(ii) Zn, HoO

Alcoholic

(v) CH;CH,Br
KOH
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